

1. $\lim_{x \rightarrow -\infty} \frac{e^x}{1+e^x} = \frac{1}{2}$ (1) $\lim_{x \rightarrow \infty} \frac{e^x}{1+e^x} = \frac{1}{2}$ (1) $\lim_{x \rightarrow 0-0} \frac{e^x}{1+e^x} = 0$ (1)

$\lim_{x \rightarrow 0+0} \frac{e^x}{1+e^x} = 1$ (1) $\lim_{x \rightarrow 0+0} \frac{e^x(-\frac{1}{x^2})}{e^x(-\frac{1}{x^2})} = 1$ (1)

2. $x(t) = 2 \sin t \cos t = \sin 2t$ (1) $\dot{x}(t) = 2 \cos 2t$ (1)
 $y(t) = 2 \sin t \sin t = 2 \sin^2 t$ (1) $\dot{y}(t) = 4 \sin t \cos t = 2 \sin 2t$ (1)

$\frac{y(t)}{\dot{x}(t)} = \frac{\sin 2t}{2 \cos 2t}$ (1)

$x(\frac{\pi}{6}) = \frac{\sqrt{3}}{2}$, $y(\frac{\pi}{6}) = \frac{1}{2}$ $\frac{y(t)}{\dot{x}(t)} \Big|_{\frac{\pi}{6}} = \frac{\sqrt{3}}{2} \cdot \frac{1}{1} = \sqrt{3}$ (1)

$y - y_0 = f'(x_0)(x - x_0) \Rightarrow y - \frac{1}{2} = \sqrt{3}(x - \frac{\sqrt{3}}{2})$ (1)

3. $f(x) = \frac{3x^2 - 3}{x^2(x^2 - 3)^2} = 3 \frac{x^2 - 1}{x^2(x^2 - 3)^2} = 0 \Rightarrow x_1 = 1, x_2 = -1$

	$(-\infty, -\sqrt{3})$	$(-\sqrt{3}, -1)$	-1	$(-1, 0)$	$(0, 1)$	1	$(1, \sqrt{3})$	$(\sqrt{3}, \infty)$
f'	+	+	0	-	-	0	+	+
f	\rightarrow	\rightarrow	local max	\searrow	\searrow	local min	\nearrow	\nearrow
	(1)		(2)			(2)		(1)

4. $m = \rho V$ $m = \rho \int_a^b f^2(x) dx \sim V$ (2)

$V = \pi \int_0^1 \frac{x^2}{1+x^2} dx = \pi \int_0^1 (1 - \frac{1}{1+x^2}) dx = \pi [x - \arctan x]_0^1 = \pi(1 - \frac{\pi}{4})$ (1)

5. $z_{1,2}^2 = \frac{i\sqrt{3} \pm \sqrt{i^2 3 + 4}}{2} = \frac{i\sqrt{3} \pm \sqrt{-3+4}}{2} = \frac{i\sqrt{3} \pm 1}{2}$ (1)

$z_1^2 = \frac{1}{2} + i\frac{\sqrt{3}}{2} = \cos \frac{\pi}{3} + i \sin \frac{\pi}{3}$ $z_1 = \cos \frac{\frac{\pi}{3} + 2k\pi}{2} + i \sin \frac{\frac{\pi}{3} + 2k\pi}{2}$ $z = 0, 1$ (1)

$z_1 = \cos \frac{\pi}{6} + i \sin \frac{\pi}{6} = \frac{\sqrt{3}}{2} + i\frac{1}{2}$ (1) $z_2 = \cos \frac{7\pi}{6} + i \sin \frac{7\pi}{6} = -\frac{\sqrt{3}}{2} - i\frac{1}{2}$ (1)

$z_2^2 = -\frac{1}{2} + i\frac{\sqrt{3}}{2} = \cos \frac{2\pi}{3} + i \sin \frac{2\pi}{3}$ $z_2 = \cos \frac{\frac{2\pi}{3} + 2k\pi}{2} + i \sin \frac{\frac{2\pi}{3} + 2k\pi}{2}$ $z = 0, 1$ (1)

$z_{2,1} = \cos \frac{2\pi}{6} + i \sin \frac{2\pi}{6} = \frac{1}{2} + i\frac{\sqrt{3}}{2}$ (1) $z_{2,2} = \cos \frac{8\pi}{6} + i \sin \frac{8\pi}{6} = -\frac{1}{2} - i\frac{\sqrt{3}}{2}$ (1)

